A 00 R AV 0 A
DF-3028

Second Year B. Sc. (Sem. III) Examination
March / April — 2016
Industrial Chemistry (I.D.)

Time : 2 Hours] [Total Marks : 50
YA-ll | Instructions :

(D

/7 Al salda g Casilaell (@oidl Grizadl uz wagy audl. ~\ Seat No.:

Fillup strictly the details of g~ signs on your answer book. || ||

Name of the Examination :
*| SECOND YEAR B. Sc. (SEM. Il | ~
Name of the Subject :

*| INDUSTRIAL CHEMISTRY (1.D.) |

o-SubjectCadeno.| 3 |0 || 2 8 -SectionNo.(LZ,....-):lEjl Students Signature J
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(2) Theare are two sections in the question paper A and B having 35 questions.
(3) €35 wad-ll s5d s o WA G B,

(3) There is only one correct answer for each question.

(¥) slamyds e s3 wR)l Risew ue s3A Quil.

(4) Select proper option to make the statement correct.

(W viler wdiet w2 025 ulkizis Wé ole 1.

(5) For wrong answer 0.25 mark will be deducted per one mark.
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1 azasdASYleld 2 ... Ay el ey 8.
(A) 354
(B) -lAelH 6, 6
(C) 2sdl
D) 2R
Polytetrafluroethylene is also known as -
(A) Decron
(B) Nylon 6,6
(C) Teflon

(D) Terylene

2 <{lA UL sy alaclol wiRdls Ayl ?
(A) Nlusa sduss
B) yRAL swieda1ss
(C) HAMS+
(D) Adase
Which of the following is not thermosetting plastic ?
(A) Polyvinyl chloride
(B) Urea formaldehyde
(C) Melamine
(D) Bakelite
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3 eyl olureld Yot ... 8.

The structural formula of paludrine is
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4 A6 ... USIRAL AL, BElsWL 6,
(A)  Wized
(B) gexdl
(C) sdlAsiel

(D) WA

Nylon-6 is an example of type of the fibre.
(A) Polyesters

(B) Natural

(C) Flurocarbon

(D) Polyamide

5  MCPA sl vsldHiyl oi-ian © 7
From which substance MCPA is synthesized ?

(D)
0 o\'\»

6 M4 g7

(A) 80% TNT + 20% NH,NO; i st
(B) 20% TNT + 80% NH,NO; 1 a2t
(C) 80% TNP + 20% NH,NO; 4 (M8
(D) 50% TNT + 50% NH,NO; < Ms@t
Which is Amitol ?

(A) 80% TNT + 20% mixture of NH,;NO;
(B) 20% TNT + 80% mixture of NH,NO;
(C) 80% TNP + 20% mi‘xture of NH,NO;
(D) 50% TNT + 50% mixture of NH,NO;
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CHAy
. 1 slelez A§942
7 L ysl sA @ +70, s A+H,0

Complete the reaction :

CHa

1
+-0, Cobalt Naphthalate A +H,0
2 Catalyst

(B)

cooH
©)

CH:LCO oH

Jo

8 WAl 6, 10 (1Al suL AR ol 209 © 7
(A) AARs A3
(B) alds 3
€) RMs AR
(D) UL AYSs 3
From which of the following acid, Nylon 6,10 is prepared ?
(A) Sebacic acid
(B) Terpthalic acid
(C) Adipic acid
(D) Para toluic acid

DF-3028_A | 5 [ Contd...



9  §.4.2.1 v U aeudl.

(A) P-P’ 2551 ASBUSa 255 HaA
(B) P-P> aSsdlRl 3sMada 2185560 $a
(C) P-P’ 295cR ASSUTe 21855612 S
(D) P-P’ 3855alRl 35BS 255€R) HaA
Give full form of D.D.T.

(A) P-P’ trichloro triphenyl trichloro ethane
(B) P-P’ dichloro dimethyl trichloro ethane
(C) P-P’ trichloro diethyl trichloro ethane
(D) P-P’ dichloro diphenyl trichloro ethane

10 L.AS. < elarelld Yot 20l :
Give structural formula of L.A.S.

T
CH— [CHayo 3
(A) SOSH(“
%
— ] CHal—CH
® CH?D E gio @Sogﬁm
1ahgs
©)
503M-
C1afas
D)
505\”]
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I Aol N-Bande qau~t .
(A) ~DldA
(B) el
(C) <ldlew
(D) BAMHA Wl
is N-methyl derivative of Melubrin.
(A) Novocaine
(B) Paludrine
(C) Novalgin
(D) Amin opyrine

12 . 4 64213 A12 Asotge(lswL 53 SBR A1~ ALRAMS 013 oi-llqdlml

(B) dudd alHn
(C) wBd-uska
(D) selAYlA
reacts with butadiene by co-polymerization to form a synthetic
rubber named, SBR.
(A) Styrene
(B) Ethyl-benzene
(C) Acrylonitrile
(D) Chloroprene

13 Wlfaudd sy (PVCO)-L GuAlaL ........... Al oldlaeni L ©.
(A) Al gl
(B) Yot alnzu
(C) swWe ¢ s[aAR
(D) WS A asd
Polyvinyl chloride (PVC) is used in the preparation of
(A) Laminated materials
(B) Decorative laminates
(C) Carpet and furniture
(D) Raincoat and lacquers

14 SR{AA Yo GuEloL g © 7
(A) use Vs a3
B) a@ -l wel eraql e
(C) ED.TA. <L aHuHl yAs a3
(D) YdRUG s143 LAl Hi2
What is the main use of Eosin ?
(A) Used as white dye
(B) To prepare red coloured ink
(C) As an indicator in the titration of ED.T.A.
(D) For dying cotton cloth
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15 AUSARUUIA A Ayl Aidged ML ........... el 2oy 9,
(A)  24Hs Qa2
B) sR3S2
(C) occlkd2l Al
(D) 8&sAilHe
The mixture of nitroglycerin and cellulose-nitrate is known as
(A) Modern dynamite
(B) Cordite
(C) Blasting gelatin
(D) Hexonit

16 s 6iReq oitie(ld Yol »uMl ¢
Give the structural formula of Musk Ambrette

O CHA
@ (H)S 21‘:1
Ty
Moy
OC,HS
O Mo 2
Cc@s R
| V3.
OCHB
© CeHf u C:OQ
3
, [\IO;L
OH
D) Qc@§ Hga
C
3
Moy
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18

19

20

iAfsarg 3ol H,S0, 43 AeslAa sl ..., wa 8,
(A)  -AUSAAA-1-ues1Hls AR

B) -AUSAAA-4-ueE s AR

(C)  -AUSAAA-5-ues s AR

(D) -AUSAAA-2-ueE s AR

Sulphonation of Anthraquinone with fuming H,SO, gives

(A) Anthraquinone-1-sulphonic acid

(B) Anthraquinone-4-sulphonic acid

(C) Anthraquinone-5-sulphonic acid

(D) Anthraquinone-2-sulphonic acid

............ Gelus-l 1l 2USALA] DRHASDAA s3I Ul SA1A

CRICICIRS

In presence of
polymerisation of isoprene
(A) CuCl, / NH,CI

(B) Zigler-Natta

(C) Fe, 03, Cr,04, K,0
(D) AICl,

catalyst, polyisoprene is obtained by the

il 58 uglt a3 ARRdlA Aadl sy & 7

(A) M- usli

(B) 36 ugli

(C) A usli

D) =02 ugli

By which of the following process acetylene can be manufactured ?
(A) Cumene process

(B) Dow process

(C) Sachsse process

(D) Raschig process

Bla .......... CRICCICTRETEIREER
(A) ulxAMs 2ANHL

B) [=s128

(C) izals 34

(D) ArAMs 2§

Phenol is not used in the preparation of
(A) Synthetic drugs

(B) Explosives

(C) Synthetic dyes

(D) Synthetic perfumes
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22

Al uBaridl wadl {lus A 24 B lavll. slesida d-ofl
Identify the product A and B from the following reaction :

Sulphonation A dezls28l Neutralization

Alkyl Benzene 11,50, 46°C NaOLL >B
A pe L B= jelis
SOg)H J |
B) A= 51 H P?= 5{““1
o o
Ll Lot
© A= ju”%‘ B s
o lhl
SogH ELIGE
c
®) A= i%H{H CyaHzs
° No!
Sosf 50316

Al uBaidl wadl flust A 24 B 2iav ¢
Identify the product A and B from the following reaction :

oNa

oCHa, CelsNOy , _ HCL o
o ~NaCl

=GR Ly
O oH
(A) A= _A OCH} B = @—OQHS
Cho ! CHO
® A- S P
v oCH5 ) 5= @»OLHB
CHoe B , . .cno
(C) /4 - @/OQ\'\B B - OQ\‘\}
J oHc—@
O Mo-
oNa CHO
@) A = oCH B=
oHc@ > [0 Locis
oH
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23 A wBumidl wadl {luet A 214 B 209l -
Identify the product A and B from the following reaction :
(A) A = 6HNO;, B = 4 [CH;CO],0
(B) A =4HNO;, B = 6 [CH;CO],0
(C) A =3HCHO, B = 6 [CH;CO],0

(D) A =6HCHO, B =3 [CH;CO],0

24 A wBaumil vadl dluet A 219 B 0ol :

Identify the product A and B from the following reaction

AlCl1 Fer04, Cry05,K50
+CH, = CH, 3 yA—23 232,
95°C H,

CHy CH=CHa

@“ A= » B =

cH=CH-CHy CHy—CHA
® A=

y B=

Wy~ CHy CRY Calls

©) A = =
)
Clg~ (i CH=CHq

(D)A?@ ) 5-;
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25

26

SAR(AAL sQuRHL A i B quan 8,
(A) A =¢flal qsdld, B = Adells 81553
B) A = Rkll-le, B = 2[5 28193163
(C©) A = Rkll-la, B = Adls 218153183

D) A = RSN, B = Aefls A0S
A and B are used in the synthesis of Eosin

(A) A = Bita Naphthol, B = Pthalic anyhdride

(B) A = Resorcinol, B = Acetic anhydride

(C) A = Resorcinol, B = Pthalic anhydride

(D) A = Metadinitrobenzene, B = Pthalic anhydride

Al UBUHL WBUS A 21 B 20 ¢

AYH H2804

A+B “H,0

DDT.

Identify the reactants A and B in the following reaction :

fuming H»SOy4

A+B 0 DDT.
¢

(A) A=2@, B=Cl,-C-CHO

¢

(B) A=@, B=Cl,-C-CHO
¢

(C) A=2 , B=Cl,-CH-CHO
¢

D) A=2 , B=CI-CH,-CHO
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27 Al wBamiell qadl st A 211 B 2ol ¢
Identify the product A and B from the following reaction :

HCI+1/, O Si10
@ /29 A+H0—2 5B +HCI

cd OH
(B)A: ; 6/@
_ ]

c
(@Ai@/ B/@

cl oH

C
h
1\

33
\)

™
o~

oH

28 HRRRA dwqql e A wd B ougla weldl 8.

(A) A =R ugla, B = sy ugla

B) A =36 ugli, B = s34 ugla

(C) A = [M@igq uglt, B = v-21[5430 ugli
(D) A = 4¢ uglt, B = s ugla

A and B are known processes for the manufacture of Acetylene.

(A) A = Raschig process, B = Cumene process

(B) A = Dow process, B = Cumene process

(C) A = Diustillation process, B = Air-oxidation process
(D) A = Wulff process, B = Sachsse process
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30

uldal yel 2 ¢

Complete the reaction :

(i) Conddensation

‘ N +a Pyridiene, — HCI B
J NHa (i) Hydrolysis
S |

NaOH, - CH;COOH

N
H H A=
(A) A:USOC@H o,B “\SﬂHHSO@AHK
A=clsopL0) it } "
®) AL 0 Yallcoctty
o AcletOpel, @ (5 el

H
o A :.SGQ@HHCOCHSJBT / ﬂ/so{—@;\/ﬁi
[ < ,

12 44 s & sl sl oigellsrel sl 2Rl 1AL S ?
(A)  lelq 2 Seflel
(B) aulds 3 v Seflel

(C) DM.T. 1 $4ldl daiufa
(D) DM.T. i Sdlefld 205183

Which of the following two organic compounds polymerize to form Terylene?
(A) Propylene and Ethylene

(B) Terpthalic acid and Ethylene

(C) D.M.T. and Ehylene glycol

(D) D.M.T. and Ehylene oxide
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31 1Al WBAri A 1 B 209 ¢

Aqp_tedlse {NH(CH ) -NHCO co}

Identify A and B in the following reaction

A+B Polymerization

{NH(CH) “NHCO-( co}

(A) A=nH,N(CH,)-NH,, B=nHOOC:(CH,)-COOH

B) A=nH,N(CH,) -NH,, B=nHOOC-(CH,),-COOH

6

-NH,, B=nHOOC-(CH, ), - COOH

(
(

(C) A=nH N(CHz)8
N(

(D) A=nH,N -NH,, B=nHOOC-(CH, ) _-COOH

6

32 Aiase A i B Hidl 4d 8,
(A) A = Bd, B = sidiedlsiss
(B) A=DM.T, B = $dldl- saiusia
(C) A =RMs 2§43, B=HMD.A.
(D) A =3yRuL, B = aliedls1d
Bakelite is formed from A and B
(A) A = Phenol, B = Formaldehyde
(B) A=DM.T, B = Ethylene glycol
(C) A = Adipic acid, B= HM.D A.
(D) A = Urea, B = Formaldehyde

33 ulu yel s -
Complete the reaction :

CH2 _ CH2 +C12 Chlorination A 0Alkah 5B
300 C to 600 C

(A) A=CH,-CH,-Cl, B=Cl-CH=CH,
(B) A=CHCl,, B=CH, =CH,

(C) A=Cl,-CH,-CH,-Cl,, B=CICH, =CH,-CI
(D) A=Cl-CH,-CH,-Cl, B=CI-CH=CH,
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34 i apdlAdl AsANeiHl sUL 6 vsidl quad © 7
(A)  Alas AR 2 olfle
(B) AAHIOS A G-oAl
(C) Adls 2AABIHISS 24 G-0flA
(D) Adls AABGIS 2 Belle
Which two substances are used in the synthesis of Alizarine ?
(A) Pthalic acid and Benzene
(B) Pthalamide and Benzene

(C) Pthalic anhydride and Benzene
(D) Pthalic anhydride and Phenol

35 A wBamidl Hadl dluest A 249 B 29 ¢

CH ————Co N P
o ——
, o +2C2}%cnifi§§§%ghg[A]+_CHS o\%,ﬁ_b[B]
_ o
cH- co 2 ( H:))——/O Y

(A) A= adMausda Hde, B = Heuldl-
(B) A = addudd A2, B = Aalludl-

(C) A = 385lel- Md2, B = HeulHul
(D) A = asMRdlA qa2, B = Aalludq

Identify the product A and B from the following reaction

CH ————C0o Esterification ‘T
o +2C,HsOH ——— [A] 4 CHy— O\\/ /—);[B]
cH- S

(A) A = Dimethyl Maleate, B = Malathion
(B) A = Diethyl Maleate, B = Malathion

(C) A = Diethylene Maleate, B = Malathion
(D) A = Dimethylene Maleate, B = Malathion
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